
$13.2 Integrals ofpaths 13.2, 1

Setting
-

I· Given a path FD ->
Ifm Jusually m =20rm =3)

domain Itis interval of IRTs) ↳ Setof all vectors in Am
So

#(A) =< f, (A), fz(A), fmIt)) where each ti:
NAIRt.
-

note: fi isR-valued so can use calc. 1&2 methods on fi
·Given an interval (a, b] =D* =1.

1

-M
· Denote an arbitrary instant vector I (C,c2.c
*AnieIntegral of F over [a,b]

bS! F(1)dt =Sa(f,(t),fz(t), . . ., fm(t))dt =((!f,H)dt,Safalt)dt, ..., f(A)dt)↑ ↑
also written by def.

Det IndefiniteIntegral of E:ID' Im is E: DY- YM,-

denoted SE(t)d1 =G(t) +c 3

-
> E = G on

ID7
.

Ex((,2t)dt =2
,
-

-

,
=) +c

soln ( (1,2t) dt=

Ex2S, < 1,2 x) dt =L
S

-

viatesasare-



. know onMotion so
13.2,2

-

-

== (F(t) position vector 4 Swrt A
F (A) velocityvector

E IE.It) acceleration vector
* Swirt A

So: SY(A) dt =S5') dt =F(A) + Y and fat) dt =StIt) dt =v(t)+k.

3 A puffo is moving along a curve with his

(a)
(t) =(0, 2,9e34) E recalla(t) =v(t) =r"(A)
I (0) =< 5, 0 3 > I recall (t) =(t)

3
14(l)

=(5
I 8 e) .

His position vector is fill in the blanks)

F(t) =( >
----I
-

reworded) Solve the differential equation -FH)=0,2,9e37i
that satisfies " (t) =<5,0,3) and 5(1) =25,8, e3).
En


